thursday work.notebook

November 28, 2018

W=x" vs ,_n

2 ’o CAP
1) Thegmph of )= has how many points of nflection” Wi y'zle
E

SN : e 03 . D). 4

What s the slope of the tangent to the graph of ix) = In (cos X)at x =37
M5 I:.Osxx B ‘1{5 D)
=51
¢ ul_oanx_ 4
b = an
= Sl 1
3)  The function, §) =Inx - % is increasing for
A) O<xze ' B) x=z1 © x>0 @0(::5(
-t oty -

x o |

4 fx)=xe, then ' (1)= 13
nl B) 2! D) e
e -
u=X yze~X -

u's L el 1\ ..\__l___l_~
‘lxv.xc'x-, A -le = e e =0

|

Nems: 2 Wsht w29ft3 BC caL

Nov 28-3:48 PM

; uzy!
5 lff(X)=€;,lhenf'(x): ul: = |'-!_. '.th
] 3
s B e: "z ) :—, ,‘;’7
'
-—-{ s - @%
X =
6 Ifx)= e then ()= ﬂf(osx
605X (5in? x - cos X) u's-simnk €) €% (o5 x-5in2x)
B) 277 (sin? x -cos? x) cos¥ D) -sinxe®sT (.,x )
@05 (~sinx ~QeasX cosx
uz Qe ye-snx € =X ¥

Sl US| - 4
1) e @ thon £ = 'S q“"(-m\ v'= ~cesx e“g(s"‘ L4 '“sx)
2

ays 2 2
sy ?an ° 7= i
ax U oy a

I ayEsy g X C X

15) Find % for the given function.

y=cas’l (1) us 3'7- ] ‘x

‘Questions Tthrough 9 referto the following: _
1777-1-Page 2
-+ Find the derivative ofthe given function.
N elx)=e wz-Y" -
. u'=ax o
Qe~%
%3
9 y-log?
i"‘"}(}") 3wy
X .
9 mo-blses USSMX ‘;!_s’i: +anx
- )
'z Ccosx K
(241)
o d[s'ﬂ i|=
» God2) B (*+1)s o # s o) 2x(tn 5y

Nov 28-3:49 PM

Nov 28-3:49 PM

h=~x

1 ty=Tithen e w=|

A) 7¥in2 B ¥t @Jﬂj Dy xey
- - z
QA w2)-i a2

X
1 Z[avunt]- ':,_‘JE(
! u= 4 2 2
B 248 |_\ B) 4+ a4 ks Pyae]
ayy L, 2
2+ ] c G
< 2 H4x
13 Ify=An:cus(%t),f.hmi—‘::
AY by o 2 o -—2
3b-e == b2
=X
) 2 '3"

Nov 28-4:00 PM

Nov 28-3:50 PM




	Page 1

